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区 1.3.3

(1) M (x) = {で }

たとえは- P ( 1) = { 14
、
Th) - 144

、

P (- 1 ) = 1 1 3 、
-_-

(2) には) = しx 1 y=で 4

たとえは M ( 1 ) = 1 ± 1 4 、 M (0) = 1 01
,

M- 1 ) = 4
,
. . .

それで山の 5うつ は、

(1) (2)

R

鱈→ 髄→

-

rest R



1面 1.3.7

に○ (存在性) [示すこと、

「
GCAxB 、

ヨ
PiA→ B : ]G = GCP)

も
GCAB をとる

、

[示すこと、

ヨ M : A→ B : G= GCP ) ]
P (a) i = { bEB 1 (a ,

b) EG }

によって M : A→ B を 定める
。

[ きすこど G = GCP )

e)
came a ⇔ caseGas]

Lab) EG ←→ DEP (a) に Todd)
(E) (a.DE GCP ) y



(一意性)

[きがど V1つば : A- B ( G = GCP) = G (H)
D = P 1

と
MP

'
: A- B ( G- GCP) 、 GG (がっ) をとる

[ きすこで 7 =が

、
KaEA

,
P La) = け[a] ]

Vae A を とる
、

[ きすこど Mk) =Marie
,
DEP (a) く⇒ DE D

'
(a) }

be Na) (⇒ (a.DE GCP )

⇔ (a.DE GCP
'

)

⇔ be で

よ、2 P (a) = MG /




